Engineering Mechanics – Statics CE 201-012 (02 & 03)

Solution of Quiz 08
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DEPARTMENT OF CIVIL ENGINEERING
ENGINEERING MECHANICS: STATICS
cE 201-012
Solution of QUIZ NO. 08 - Sections 02 & 03

static Dry Friction Monday, May 20, ‘02

1. The man has a weight of 200 Ibs, and is walking on an inclined plank that rests on two surfaces
with static friction coefficients s = i = 0.3. Determine how far distance d the man can walk up
the plank wihout causing the plank to slip neglecting the weight and thickness of plank.

are both given by 4 N. The solution is

Note: When the motion is imminent, the friction forces at A and B
based on the following FBD,

FBD when motion is imminent.
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Note: there will be 108 for neatmess of presentation.




[image: image2.jpg]‘SrZFJ =0
= 220" 1 Ay w010~ 200 o’ TN 10"+ Fodaitsg
D =010%4y +prg3anNy - 18F 1y Ta%sdz,aro'ﬂmsta

20856y + 11037 N =187 7Y

ao-gw(c&v—O‘/ZW& o33
&y G LE oy - = g7
o T 33 W= 1877y

Db - Olb2 N + 1037 Wy =187 1y,

D087 h BTNy~ 90
A= 11070708 ®
®fp= 23020 b

S oMy o

> 2s0 5. 120 x3 — 200 W20 xd >3 02 gai0’x 15

0. 0308 410" X152

%) 205 212 ~18%- 94 d 8¢ 0105 +1425-9%8=0






Dr. Saeid A. Alghamdi:


1/2

